OFFICE OF OPENSPACE, RECREATION **COUNTY OF UNION, NEW JERSE** & HISTORIC PRESERVATION FUND 10 ELIZABETHTOWN PLAZA, 6TH FL ELIZABETH, NJ 07207 THIS NUMBER MUST APPEAR ON ALL INVOICES, PACKING LISTS, CORRESPONDENCE, ETC. 14 Space ORDE REON OFFICE OF OPENSPACE, RECREATION 11005794 Pg 1 No. & HISTORIC PRESERVATION FUND 10 ELIZABETHTOWN PLAZA, 6TH FL ORDER DATE: 06/27/11 ELIZABETH, NJ 07207 REQUISITION NO: 11005562 DELIVERY DATE: STATE CONTRACT: **I NJCP** VENDOR #: UCA02 F.O.B. TERMS: UC ARTS CENTER E 1601 IRVING STREET 11005794 D RAHWAY, NJ 07065 VENDOR: UC ARTS CENTER 0 DATE PAID: R 6/29/2011 AMOUNT: \$419,846.41 CHECK# 249022

DESCRIPTION	ACCOUNT NO.	UNIT PRICE	TOTAL COST
Upgrades to UCAC Union County Performing Arts Center for various upgrades necessary to systems within the theater and necessry repair to the marquee.	S-26-48-900-999-341	419,846.4100	419,846.4
Reso.471-2011 Adopted 5/12/11		TOTAL	419,846.4
JUN 29 AM 8: 25		TOTAL	419,046.4
<b>2011</b>			
	Union County Performing Arts Center for various upgrades necessary to systems within the theater and necessry repair to the marquee.  Reso. 471-2011 Adopted 5/12/11	Upgrades to UCAC Union County Performing Arts Center for various upgrades necessary to systems within the theater and necessry repair to the marquee.  Reso.471-2011 Adopted 5/12/11	Upgrades to UCAC Union County Performing Arts Center for various upgrades necessary to systems within the theater and necessry repair to the marquee.  Reso.471-2011 Adopted 5/12/11  TOTAL

Vendor supplying goods or services, the total cost of which during a one calendar year period will exceed the public bidding threshold (N.J.S.A.40a:11.3) must comply with the requirement of P.L. 1975, c 127(N.J.A.C. 17:27) (on reverse)

#### **DEPARTMENT ATTEST**

DELIVERY SLIPS RECEIVED AND CHECKED

6.24.11

SIGNATURE

PERSONAL KNOWLEDGE OF SERVICE RENDERED OR RECEIPT OF MATERIALS, SUPPLIES AND EQUIPMENT

FOR PAYMENT - SIGN AND RETURN TO ABOVE "BILL TO ADDRESS"

## SIGNATURE BELOW MUST BE ORIGINAL PLEASE MAKE COPY FOR YOUR RECORDS

#### **VENDOR'S CERTIFICATION & DECLARATION**

I do solemnly declare and certify under the penalties of the law that the within bill is correct in all its particular that the articles have been furnished or services rendered as stated therein; that no bonus has been given received by any person or persons within the knowledge of this claimant in connection with the above clair that the amount therein stated is justly due and owing; and that the amount charged is a reasonable one.

6 28 1 X SIGNATURE

DATE

SIGNATURE



5/12/2011

#### UNION COUNTY BOARD OF CHOSEN FREEHOLDERS

RESOLUTION NUMBER: 2011-47

WHEREAS, the Union County Open Space, Recreation and Historic Preservation Trust Fund has available funds in the amount of \$419,846.41 under the "Preserve Union County 2011 Grant Program for Historical Structures" to be allocated to the Union County Performing Arts Center for various upgrades necessary to systems within the theater and necessary repair to the marquee:

**NOW, THEREFORE, BE IT RESOLVED** by the Board of Chosen Freeholders of the County of Union that it hereby authorizes the County Manager to enter into a Grant Agreement with the Union County Performing Arts Center and to encumber and allocate funds from the Union County Open Space, Recreation and Historic Preservation Trust Fund for the "Preserve Union County 2011 Grant" Program for Historical Structures in an amount not to exceed \$419,846.41 to be charged to Account No. S-26-48-900-999-341.

Suffoffund Mzrto 5/12/1

	RECORD OF VOTE																
FREEHOLDER	Aye	Nay	Abs	Pass	Res.	Mot	Sec	NP	FREEHOLDER	Aye	Nay	Abs	Pass	Res.	Mot	Sec	NΡ
CARTER	1								SULLIVAN	X				x	x		
ESTRADA								X	WARD								×
HUDAK	X								MIRABELLA VICE CHAIRMAN						.,		
JALLOH								V		X			┞		<u> </u>	—	<u> </u>
KOWALSKI				<b>†</b>		$\vdash$	$\vdash$	$\uparrow \hat{\lambda}$	SCANLON CHAIRMAN	X							

APPROVED AS TO FORM	
COUNTY ATTORNEY	

I hereby certify this is an original resolution adopted by the Board of Chosen Freeholders of the County of Union on the aforementioned date.

I hereby certify this is a true copy of a resolution adopted by the Board of Chosen Freeholders of the County of Union on the aforementioned date.

CLERK



### COUNTY OF UNION

Memorandum to George W. Devanney, County Manager

From:

Victoria Drake, Trust Fund Administrator

Re:

Request for Resolution

Date:

May 5, 2011

CC:

Nicole DiRado, Clerk of the Board Robert Barry, Esq., County Counsel

Please accept this Request for Resolution, for placement on the agenda setting session of the May 5, 2011 Freeholder meeting.

Authorizing the County Manager to award a Preserve Union County 2011 grant to the Union County Performing Arts Center, Inc., 1600 Irving Street, Rahway, New Jersey, for various upgrades necessary to systems within the theater, and for necessary repair to the marquee.

This contract is on behalf of and through the Open Space, Recreation and Historic Preservation Trust Fund, in an amount not to exceed \$419,846.41.

To Be Charged to Account No.:

**UCPAC Lighting Upgrade** 

Lighting Fixtu			·			\$	54,217.52
		our Parnels, 750w		\$	266.20	\$	3,726.80
		our Ellipsoidal 36deg, 750w		\$	371.10	\$	15,586.20
	12 Source Four Ellipsoidal 26deg, 750w			\$	371.10	\$	4,453.20
		our Ellipsoidal 19deg, 750w		\$	371.10	\$	11,875.20
		ft Four Circuits Strips		\$\$	1,212.50	\$	4,850.00
4		esign Spot 575E Moving Lights		\$	3,431.53	\$	13,726.12
	Note: all	eq numbers include lamps, cla	mps, safety cab	e, and pin connecto	ors		
Lighting – Din	nmers					\$	47,639.42
1	ETC SR96	Sensor Touring Rack,		\$	40,927.42		40,927.42
1	ETC SR12	Sensor Portable Rack Rack		\$	6,712.00	\$	6,712.00
	Note: Pin	& multi connectors)					,
Stage Distribu	tion						
	100'	6 circuit Multi Calala				\$	11,276.21
14		6 circuit Multi Cable		\$	476.40	\$	476.40
	25′	6 circuit Multi Cable		\$	314.40	\$	4,401.60
	pin fan br	6 circuit Multi Cable		\$	234.00	\$	936.00
	pin break			\$	167.64	\$	2,179.32
				\$	157.56	\$	2,048.28
	25 4/0 5 25' DMX (	Wire Feeder Cable		\$	819.00	\$	819.00
				\$	30.36	\$	91.08
3 50' DMX cables				\$	45.00	\$	135.00
1.0	ciation Of	pto Branch 4 DMX Splitter		\$· ·	189.53	\$	189.53
Aain Lighting	Control C	onsole				\$	17,995.94
1 E	ETC Ion Co	onsole with Fader Wing				\$	17,995.94
	with Re	mote Control Unit					,
ccessories			•				
	4 Profile	Top Hats		ċ	42.22	\$	947.49
		mplate holders		\$ \$		\$	426.24
	4 Iris inse			\$		\$	89.25
				Ţ.	72.00	\$	432.00
immer Tie In	by Licenc	ed Electrician				\$	5,000.00
1 6	600 amp s	ervice w/ Camlocks		,		\$	5,000.00
louse Labor						\$	7,380.00
			52 hrs			\$	1,820.00
			16 hrs			\$	560.00
						\$	5,000.00
				Total	·	\$	144 455 50
				iUlai		Þ	144,456.58

Additional Needed Upgrades			\$ 31,320.00
1 Leprecon 624 DMX Console (Studio Dimming)			\$ 1,500.00
2 Leviton 12 CH/2.4K Dimmer Packs (Studio Dimming)	\$	3,385.00	\$ 6,770.00
36 HPL 750w Lamps (re-lamp existing equipment)	\$	16.50	\$ 594.00
20 Female Pin Connectors (Re-place @ Box Booms)	·. · · · · <b>\$</b> · · · ·	6.00	\$ 120.00
1 200' 4/0 5 Wire Feeder Cable (for Outdoor Concerts)	\$	2,287.00	\$ 2,287.00
1 Hazer	\$	1,925.00	\$ 1,925.00
1 Genie AWP-25s Personnel Lift	\$	6,700.00	\$ 6,700.00
2 Phoebus I-Marc 850 Followspots	\$	5,712.00	\$ 11,424.00
	Total wi	th Extras	\$ 175,776.58

# UCPAC Sound Upgrade Mixing Console

Mixing Console		\$29,816.76
1 Yamaha M7CL-48ES 48x24 48 Channel Mixer	\$29,816.76	\$29,816.76
w/ DME81-ES	• • • • • • • • • • • • • • • • • • • •	7-5/02017
Speakers		\$41,930.40
12 Nexo GEOS805 for 7 speaker Line Arrays	\$1,645.20	\$19,742.40
2 Nexo GEOT2815-PB for 7 speaker Line Arrays	\$6,480.00	\$12,960.00
4 Nexo CD12 Subwoofers	\$2,160.00	\$8,640.00
2 Nexo Geo Bumpers Mounting Hardware	\$294.00	\$588.00
(Cable pick ups installed by riggers)		
Amplification	,	\$26,496.00
4 Nexo NXAMP4X4	\$6,624.00	\$26,496.00
Finish Amp. Room		\$4,443.06
1 Cisco SRW208P	\$256.80	\$256.80
5 DBX iEQ31	\$539.97	\$2,699.85
1 Middle Atlantic 5-43	\$286.75	\$286.75
1 Middle Atlantic BRK16	\$113.93	\$113.93
1 Assorted cable and splitters	\$1,085.73	\$1,085.73
System Installation		\$19,800.00
Re-Route Snakes to road position		\$2,000.00
Run CAT5 Cable from Amp Room to Booth (House labor)		\$1,000.00
2 20A Circuits to Booth (by Licenced Electrician)		\$1,000.00
	Total	\$124,486.22
Additional needed upgrades		\$30,719.81
1 Case and EZ Tilt for exisitng Allen/Heath Console (Use as Monitor Mixer)		\$2,643.41
1 HME CZ11447 4 Station Communications System (Replace and augment existing	g)	\$6,477.60
4 Sennheiser Wireless Microphones	••	\$5,152.09
9 dB Technologies M12-4 PLUS (Band Monitors)	\$724.80	\$6,523.20
1 Dynamic Microphone Package		\$1,672.54
1 Condenser Microphone Package		\$5,860.57
4 Direct Boxes	\$111.00	\$444.00
4 Microphone Stands	\$74.40	\$297.60
2 Horizon SPL12X0-50 SPL Snakes	\$221.90	\$443.80
Assorted Cables	,	\$1,205.00
	Total with Extras	\$155,206.03

#### UCPAC Projection Upgrade - Partial

Projection			\$32,003.45
1 Christie LX1000 10K DLP Projector			\$14,368.00
1 Sanyo 5200 Lumen Projector			\$9,000.00
1 16.5' x 35.5' Projection Screen			\$3,500.00
1 Sony BDP-S370 DVD Playback and Upsca	aling		\$135.45
1 HXRNX5U AVCHD Recorder			\$5,000.00
Sound Equipment			\$38,040.35
1 Crestron PSPHD Processor (instead of Do	olby)		\$6,600.00
1 Yamaha MY8DA96-CA Interface Card			\$360.36
1 Yamaha DME24N DSP Engine	the state of the s		\$3,233.16
1 Yamaha IF3115/95 Stage Speaker (to use	e with 2 existing from old system)		\$1,799.28
2 Yamaha IS1118 Sub Woofers	, ,	\$898.80	\$1,797.60
f 1 Yamaha XM4180 Amplifier for Stage Spe	akers and Sub Woofers	\$1,007.28	\$1,007.28
16 Yamaha IF22208 Surround Sound Speake		\$719.28	\$11,508.48
1 Yamaha IPA8200 Amplifier for Surround		\$1,583.28	\$1,583.28
1 Middle Atlantic 5-43 Amp. Rack		\$250.91	\$250.91
System Installation		¥-1-0.02	\$9,900.00
House Labor			\$2,320.00
Projection Screen Installation	24hrs		\$1,120.00
Build Rolling Cabinets for Stage Speakers			\$1,200.00
	Total of Suggested (Partial) Projection (	Jpgrade	\$72,363.80



1-3-11

Union County Performing Arts Center 1601 Irving Street Rahway, NJ 07065 Attn: Len Vanderwende

Len:

In accordance with our last meeting, the following is our proposal to renovate your existing Marquee sign.

Each item of the renovation has been estimated separately so that you can choose which parts or parts of the work you deem most important this year.

1) Sign Renovation:

Takedown (2) existing lexan sign face panels and replace with new. Sign panel sizes approximately 6' x 12' x 3/16". New panels to be fabricated with opaque black vinyl copy to match existing. All new black vinyl rails to be supplied to allow for proper mounting of changeable letters.

New black aluminum moldings to be fabricated and installed for entire face surround.

Existing changeable letters to be re-utilized.

Cost: \$4200.00

2) Flat Cut Letters:

Fabricate and install new flat cut aluminum letters with copy to read "Performing". Lettering to be 3/2" thick plexiglass and painted as per customers request. Letters to be fastened to existing front Marquee with pin mounts.

Cost: \$1200.00

3)

Under Canopy Paint:
Sand, prime and paint entire under canopy.
Primary and accent color included in paint:

Cost: \$2800.00

Under Canopy Lighting:

Replace existing broken sockets as required and re-lamp entire under canopy portion of sign.

Cost: \$2500,00 (Allowance)



5) Marquee Paint:
Sand, prime and paint entire Marquee. Colors to match existing.

Cost: \$2800.00

Marquee Lighting:
 Replace existing broken sockets as required and re-lamp entire under canopy portion of sign.

Cost: \$2500.00 (Allowance)

Changeable Letters
 Provide additional letters as requested.

Cost: \$500.00 (Allowance)

en Staggarthalais

Derey/Dellibyo

### **COUNTY OF UNION**

1.15	Part C - GOVERNMENT RECOR	DS REQUEST RESPONSE
Reques	101: Tina Rema-UWA	Request Date: 8 5 11
Ó	Document(s) provided: The pages, at a total cost of: no Fee	Item 12 - Backup
	Special Service Charge imposed - Reason:	for ck# 2 4091 022,
	Document(s) have been inspected by the requestor on the date shown by	
	Document(s) not provided (see below)	
The dox	rwise exempt from public access, as provided by applicable law:	rovided because the document(s) are considered privileged o
_		hority for Denial or Redaction
	Advisory, Consultative or Deliberative material	N.J.S.A. 47:1A-1.1, et seq.
0	Autopsy Photos / Video	N.J.S.A. 47:1A-1.1, et seq.
0	Attorney-Client Privilege Information	N.J.S.A. 47:1A-1.1, et seq.
0	Computer Security Information	N.J.S.A. 47:1A-1.1, et seq.
	Criminal Investigatory Records	N.J.S.A. 47:1 A-1.1, et seq.
<u> </u>	Credit Card Numbers	N.J.S.A. 47:1A-1.1, et seq.
0	Domestic Security (Sabotage or Terrorism)	Executive Order 21 (McGreevey)
0	Grievance Information with public employer	N.J.S.A. 47:1A-1.1, et seq.
	Drivers' License Numbers	N.J.S.A. 47:1A-1.1, et seq.
O	Electronic Surveillance Materials	N.J.S.A. 2A:156A-19
	Emergency or Security Information or Procedures	N.J.S.A. 47:1A-1.1, et seq.
ū	Employee Sexual Harassment Complaints	N.J.S.A. 47:1A-1.1, et seq.
Ü	Fingerprint Cards	Executive Order 9 (Hughes)
Ú	Individual's Medical, Financial, or Tax records	Executive Order 26 (McGreevey)
	Insurance Communications	N.J.S.A. 47:1A-1.1, et seq.
J	Investigation in Progress	N.J.S.A. 47:1A-3.a
Ü	Labor Negotiation Information (strategy or positions)	N.J.S.A. 47:1A-1.1, et seq.
J	Personnel or Pension Records	N.J.S.A. 47:1A-10
Ü	Photographs of Crime Scene	Executive Order 9 (Hughes)
i i	Proprietary Information	N.J.S.A. 47:1A-1.1, et seq.
L	Reasonable Expectation of Privacy	N.J.S.A. 47:1A-1.1, et seq.
٦	Resumes of unsuccessful applicants	Executive Order 26 (McGreevey)
Ü	Safety of persons or the public	Executive Order 69 (Whitman)
ū	Security Measures and Surveillance Techniques	N.J.S.A. 47:1A-1.1, et seq.
ū	Social Security Numbers	N.J.S.A. 47:1A-1.1, et seq.
ū	Test Questions, Scoring Keys, or other Exam Data	
0	Victim records	Executive Order 26 (McGreevey)
5	Record has been destroyed/not retained pursuant to:	N.J.S.A. 47:1A-1.1; N.J.S.A. 2A:82-46b
IJ	Other	Records Retention and Disposition Schedule
You has Govern attached Date:	re a right to appeal this decision that the documents requested are not ment Records Council (GRC) or to the New Jersey Superior Court at "Part D - Procedures to Challenge Denial of access to Covernment Council (GRC) or to the New Jersey Superior Court at "Part D - Procedures to Challenge Denial of access to Covernment Council (GRC) or to the New Jersey Superior Council (GRC) or to the New Jersey Superior Court at "Part D - Procedures to Challenge Denial of access to Covernment (GRC) or to the New Jersey Superior Court at "Part D - Procedures to Challenge Denial of access to Covernment (GRC) or to the New Jersey Superior Court at "Part D - Procedures to Challenge Denial of access to Covernment (GRC) or to the New Jersey Superior Court at "Part D - Procedures to Challenge Denial of access to Covernment (GRC) or Council (GRC) or to the New Jersey Superior Court at "Part D - Procedures to Challenge Denial of access to Covernment (GRC) or Council (	NT  View/inspect, the documents requested except for any t the documents could not be provided in accordance with
Date:	Requestor's Signature	 Version 6/09 (prior editions obsolete)